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" GROUP-A / (31a1)

L.~ TFor cach question given below four answers are given. Out of four, only
one answer is correct. Select the correct answer. . 1x4=4

=4 2foTh! 2] AN BI51E $6e fral Sirg | 5IR6R foeas GonE =% e
%7 TG Ak Tmedl |

i

(ii)

314-GSc

The distance between two consccutive creasts in a transverse wave
IS

T2 TG 1 GIHRE AR T 79w

(@ 2
5 4
() 24
-2 = wavelength
| '
@) = . A = S

Light is passing from one medium to another. The ray will not -

changc in direction if the angle of incidence is

14 a0 TR [ T A A (R (AlE] e sf“—ﬁa:
'»ri‘“ﬂﬁsfc T2g AAZ Toyea ed G

(a) 0°

(b) 45°
(c) 90°
d 60°

(2]
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i (i) When blue litmus is added to dilute HCI, the colour nflhc

(iv)

B14-GSc

becomes

T B, i 11C) we can ofE mie 9

(@) colourless

RIZTA 77

| (b) remains blue

(¢c) turns red

9 7

‘ (d) tums green

GReGIE 33!

Cracking of crude oil is carried out in order to —
RN (579 A TAGY TR FREID] —

(@) make the crude easier to transport
I (S5 T AR SR

(b) increase the calorific value

(c) remove impurities

(@) increasc the amount of petrol obtained
ot (T (AT A oA |
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2. (a)

(b)

(b)

B14-GSc

What are the factors on which the spced of sound in a gascous
' 4

medium depend ? 2

(BN Y e TS eeide (Rt weegg e

The wavelength of a radio signai is 300m. Find the frequency of the

signal. Given that the radio signals travel at a speed of 3%10° m/s.
' 2

Bl @S WEwd sad M9l 300 7 W AuEe wfe

Ix10° (& TE AR IR T w4

Or / Q%

A-person hears the thunder 3 seconds after the lightning. How far
is the source of thunder from the person ? The speed ol sound in air
is 332m/s 2

GG TR AGATCA (AR (7 3 (38 Age (oradll SFRla oAt |
TS *7A B 332(Z T TR 7RI e ree qgetrs AR

What is the least distance of distinct vision for a normal cye? 1

%2 534 ™2 4eq TR 7Ry e

Why is the sky blue ? ‘ - 1
MR 1 Al @A e 2 |

[4]
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. (¢} An object is located 30cm in front of a concave mirror

length 15¢cm. Find the position of the image and its magn

15 =Sl 1R (R Seres MiTati 99 =R 30 & s o
T R AR wmEm e Rt Ry | |

Or / 3t

An object is located 10¢m in front of a convex lens of foc:

I5cm. Find the location and the magnification of the imay

IS (= T'912 @951 437 ¥ee @ 71 10 (B3 IS o7y
IR | AfSfiye wwrzin e Rada fidg w41

4. What is myopia ? What kind of lens can correct the myopia anc

T 2 PR ofeere A e (F1Z IZE I 27

O/ G2

The critical angle for a media with respect to air is 30°. What
refractive index of the medium ?

T ACATT GO G 335 @I 30° | MINDR 2Afosmetiess fdfa 3

B14-GSc . 5
http://www.asg[amLoard.com

wod pieoquuesse mmm//:dny



wod pIeoquuesse mmm//:dny

5.

i

(a) Two charges ¢ =34c and G- =94c repel cach other with a foree

of 0,027 N. What is the distance between the two charges ?
2
q, =3 aE ¢ =9k T3 S ooz7ﬁrﬁ1wmﬁm
e 3 | SHYm oR IR 4% |
Or / G2t
The electric field at a point is 0.1N/C. How much force a
proton will cxperience there? Given the charge of a _
proton = 1,67x10™" Coulomb. 2 =]
£
o1 Repe aped g ke T4 0.1 Fesa /3 (iR e <ol :
ﬁ’m\.ﬁa—ﬁﬁm 7 oAl 222 7 g, 26w =nam = 1.67x107" 2
jah]
ekl %
ja]
2
(b) How many electrons arc there in 1 Coulomb of charge ? 1 g
| 3579 4TS M AR Leegn A
(c) Two resistors of resistances 30 and 242 are connected in parallel
to a 3V battery as shown below in the circuit. Find
(i) the cE;uivaIenl resistance of the cmnbination_.
(ii) total current in the circuit.
(iti) current through each resistance. [+1+2=4
B14-GSc (6]
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P L™

TR IEAMBIE 367 W% 263 (@147 K1 (@14 ST g
RO €61 e A w1 ) afent

(i) TEIUOR ATEe @«
(i) TEAE P AT @
(iii) T @ AMema g e T e

20

=
Or / 923t

How many 120 resistors in parallel are to be connected
battery of 61" so that a total current of 14 passes from the |

Bl 6 & BN TEE FEED (2 6T (SIS HAET
R SR GOINA 5 1 9o e st <o

(a) Writc one difference between an electric motor and an
-~ generator.

T 59 W e Seota wiem @by sl By
| Or / gqt

What is the principle used in (he construction of an
generator ? ‘

AR Besties by Fisf FETE mﬁﬁﬁw T
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*

(b) Write down the Faraday’s Laws of clectromagnetic induction.
2

(R Rygay Sim A @20 &)
Or / q441
Draw a neat and labelled diagram of an A.C. generator, 2

© ol Rige Seoie @b R US GTRGE BT ¢ www
|

(c) Mention one use of the right hand thumb rule. 1
iZSTal o1 SIgf difes «of IR Srmd 4|
Or / %41
What is Solenoid ? I,

(i) Name a device which converts sound encrgy into an clectrical signal.
1 |

X Afes Wyfes Aqeeln FRe 1 Agk [ aw =l

7. (a) Whatis the cause of incrtncss of noble gases ? 1

T (A TR FRd

(b)  With the help of electron-dot-diagram explain the formation’of CaO.
)

[

ERT-T0-Ha TS Ca0 w7 1A A 1|

Bl4-GSe . (8]
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« (c) Explain with reasons : (any one)

®)

B14-GSc

TR R W 7= 3 (R @l abt)

(i)  NaCl does not conduct electricity in the solid state but ¢
c]cctriciiv in the fused state or in aqueous solution.

csn%iwzﬁs NaCl .4 R 477z R4 @RI, {59 Rk
31 T wEe fge st sfkq «Ane |

(i) Naphthalene is insoluble in water, but soluble in
tetrachlonde.

What are the products of the following reactions ? Write b
equation.

o= faml e RYre & & Teotn 32 Tge A iR
() Zn(s)+ H.50,(aq) — |

(ii) CaCO,(s)+ HCl(aq) —

. Or/q4q

Distinguish between base and alkali. Give one example of
TR WE Gl T #1474 AT whize Sarma

Give one reason why alcohol and glucose are not acids even
both compounds contain hydrogen.

CTRL T TG TS (e TG (e g e @ wg

T | Ghr ke v |
[9]
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9. (a)

(b)

10. (a)

B14-GSc

What are aliphatic compounds and aromatic compounds ? Give gne
cxample of each with their molecular formulae. [+1=2

JFFrehe 9w @3ehe diraE e waRke Aees (e 2raeE
GB17e Garzad faat

Or / G4l

-

What is tetracovalency of carbon ? Explain. 1+1=2

T PSS IF &I 2 I A

Define substitution reactions. What happens when methane reacts
with chlorine in diffused sunlight ? 1+1=2

oo Rl sl fl | free ffse T ofge FR TS

Name one orc of aluminium. Describe briefly the method ‘of

concentration of the ore. http://www.assamboard.com 1+3=4

SERFaT b SRR A e | iR SN AFRTR 59
)

Or / G4t

With suitable example differentiate between : -

* (i) minerals and ores

(i) gangue and flux.

LIU]
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(b)

1. .(a)

(b)

GAGE SRAIT TACS A1y (e
(i) = o wiw e
(i) A TR Rl

Dcfine alloys. Write the dltTcrcnl lypev. of alloys with on
of each.

AEI. LT 7L f%raﬂ | Rfer 21 sices ar Wb S
fa -

Answer any two of the following

e [ e 7 e phie e e

(/) Name the raw materials used in the manufacture of
acid.
wArERe Afewa A% Teamre aEmE =1 @5 A
u"""!*ﬂ |

(i) Namc fwo organic herbicides
751 TR gl e |

(iij) ‘Why the glass objects are allowed to cool l‘rom high ten
very slowly ?

3i5a IR O Txeom o@l s wmE AR By &b

Write nwo ill-clTects of overuse of pesticides in agricultur

FlReRTe SHaME 7354 T AR 751 F-2em

12. What is Bio-gas ? Write one use of bio-gas.
oR-(% [ 7 Toa (1@ by e e

Bl4-GSc
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OJ/WW } '

Name fwo rencwable sources of energy and mention one advantage of
each. 1+1=2

7B ARl *fEq SeAa M ki T A7ErHrT JIAOIS R4 S 391 |

-

GROUP-B / (3>li4i)

13. For the questions given below four answers are provided of which only
one is correct. Select the correct answer. 1x2=2

mewm@mﬁmmmﬁmmmaﬁm-ﬁﬁ
Ted | wm Gadrn! dife Siedl |

(i) The gland which secrets somatotropin is

w5 G === 1 i1 T

(a) Pituitary
fpzoat

(b) Thyroid

JIESEL
(c) Thymus
RIETIY
" (d) Adrenal
RS
B14-GSc¢ . | [12]
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. (i) The connecting plant between gymnosperm and angiosp:

TG AR sATER N s 75

" (a) Pea
BITRIEY

() Monotropa
TGl

(c) Gnetum
(BT

(d) Cuscuta
4. Answer the following :

TR oHTaMe Bea fug o

(@) What do you understand by turgor pressure ?
S 5174 3 B gwro
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(b) What is known as “hereditary vehicle” ?
“Ieuisiiea I (RS
‘?I\ QIS A T (R a? http://www.assamboard.com

(c) What is th T et ' o Whatsapp @ 9300930012
o ‘ ¢ pl of distilled water ° Send your old paper & get 10/-

MIEI '?iF'?FipHH‘-‘.ETﬁ“«':TH? 3 Q@ dud ha 3 10 sud urd,

Paytm or Google Pay &

I5. (a) Write the name of the valve which is present at the left aur
ventricular aperture.

e wuFw-fmy fBge ¥ THESGA A 7|
Bl4-GSc [13]
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